Pre-Calculus Assessment

1. Simplify.
a) (5—-2i) —(8-70) b) (3 + 4i)(6 — 3i) c) 3412;
3 61,10 2
d) 3/16x6y e) 48+ 7/50 f) |3
5Y3 (Q+3,70 4Y3 (9431, ~5Y—2 L (2x5y~2\ 72
g) (5xy%)°(8x°y") h) (Bxy*)*(2x°y~%) ) (32%)
3
L x2-x-12 _ x%+6x+8 3 7 2
i) x2-16 x2+4x+3 k) x—4 ' x+5 ) 2+%
2. Factor.
b) 2x3 — 16 c) x* —13x%2 + 36

a) 3x%2+10x + 3



3. Solve.

a) x?—x—-12=0

d Vvx+6=x+4

g) 2(3)* 2 =12

4. Graph.
a)y=Vx—-2-4

b) 2x2+x=5
X xX+8

o) £ =xt8
3 x+l

h) 2x3/4 -5 =11

b) (x—2)2+y2 =4

c) x3+4x? —11x = 30

5 9

x+3  x2+2x-3

f)xzj+

i) 6logz(x +1) =12

c) y=1log,(x+3)—1

5. Write the equation of a line, in slope intercept that is perpendicular to the equation 3x + y = 7 and

goes through the point (2, —5).



